Math 102

~ TEST CHAPTERS P, 1, & 2

Score; Name: AMSWERS frn A2
Show all your work on these papers (you may use the reverse) and
1. Express the number set

Form A2

_ Spring 2006

BOX your final answers |

PE—— g WY

: . -2 3
a) as an inequality

-2<€ <3

b) using interval notation

[-2,3)

i imtA=Ix ]| -3 =x <3V andB={x|=2=xk.
Find each of the following and express your answers using interval notation.
a) ANB | NTERS ECTION —g % t
= [2,3) = numbers comman 5 §
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(-3,00)
UNION
= get of ol numbers in A or mB.
3. Simplify as much as possible (eliminate any negative exponents): 2
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Simplify (Factor completely): 4 x “— x
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;5. Solve, and simplify your answer: 2x2% - 6x + 3 = 0 S SM%M
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. ¥ Soleforx =Tt _p

X + 1 we m‘b&auﬂ sides by x#( makes
ax+c=b0x+) assangotion that 14/ 7 O
aAx+C = bk +b
= = we naedto sobe for x |
ax-bx = b-cC &
@'_b).ax = b-C
k=b-C  psd atbond pit-l
a-b (e#a)
; 8. Divide. Express your answer in the form a + b i ]] : ::;3 3; ;ﬁ:‘ﬁfh ke
[+ 3( _ f%%fﬁ
J=31 " 1+3i
= }"-r(ii)z' + 6{_
1% (3)*
- _{_-_.q +6i = = +61 = & 4-._6_;':'%1"%1.
| -9 { % T "

; 9. Solve: Vx P W
Cie s we red toiselale Ko/ so that when
/x+tio = X-2 Squared., no /" wllrgman.

X+0 = K-4x+it

@Sk -b =0 put guadratic It standard frm
(k-6)(x+)=0 and Solve ...
¥=6 or -l “Then CHECK Solutraa (RequRED!)
be cause sy Can brmg M
M.‘ X=6: JTE';'— 6-2 exfranesra TP
4 =4

¥=-1: VG = -[-2 NO
Theowly solutvn 12 %= 6.



, 10. Solve for x.

CquaMfD o

MT Answers -Sos — A2 - p-4

3x+ 3
< 2  Express your answer using interval notation.

3xt3 .9 co Do Md“mﬂﬁ{dgb‘?*x.’ (Zneguatity.)

I'1 . 4’ N"I" - 2 - » "]
S‘mf.!@ 3 x3 ..% £0 Atx =0, E#Wu
g =0 At %= <3,

CRircAL VALES AtE -3+ Q -ﬁ_lt:g. s 3-1=2£2
Xt3 _, 4o s . 4 so —33 i5 asolusrow
T, 4 : i
-3 (4 LHBJO)
=0

s 11, Solve |4-3x] 2 5.

(@l zS

Express your answer using interval notation.

i 2onytf Q=-S5 or &7

4q-3x -5 or 4-3x 25

; 12. For A=(-6,-5) and B=(-2, -1), find
a. the length of AB (simplify your answer)
(AB) = - =) + (-2 "(;ﬁ" __ | A{ ZE T
=N Grryt 4 Ca,3) |
J32 or 42 :
6S)

9 <3x R —| >3y
Cia R SR

("w)-{{a-] v £3J‘°")

b. the midpoint of AB.
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; 13. For the line given by the equation 3x — 4y =12: ¥
find the slope; sketch the graph,
and label the x and yintercepts.
slope: &ﬂ /IL
Bx-Zgﬂl \%wi:% ;f)j AT
Y=2%-3 3Ix-4-0=l Pl X
. =% B% (55
x=0=y =-3 4
7|
E
, 14. Find the center and radius of the circle with equation given.
x% 4 yz— 6x + 4 -3 =0
t"zfx/w;q -yt +4y+4 =349 +4
4 \ 4
(%=2) + (y+1)
x-a)" &+ (y-b)* = Compons witk...
=3 this circle's center IS af (2,-2)
ond. radius is < .
. 15. Find the equation of a line passing through (-3,4) and perpendicular to the line given by
2x + 3y =5. ANOTHERWAY'"
:-'PY""%{SX"' 5/3' 1l 4o A% -i'Slif:SL:
o Lslepeis 3 fs 3x-2y*
= slope =-%3 > Lsipe a3 5=
so \meis -—%_K.+'¢ 3(-2)- 2(e) =k = k=-17
Tofmd b, wt-bnmlm-hw So eobuaiwmoﬁf“ﬂ-ﬂ- s
cavtain ( 3‘1) So! 3x-2y ==17
A2 3.(-3}-1-[::

Sbeq+%h=12 > y=2x+3



